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1. Find	the	value	of3.39	+	3.68	✕	41.9	÷	4.19 	−	4.49	✕	18.54	÷	3.09 	−	3.58	−	7.78	−	5.88

(i) -3.99 (ii) 3.01 (iii) 7.01 (iv) 4.01

2. Find	the	value	of [12.07	÷	(4.49	+	7.58)]

(i) 1 (ii) 0 (iii) 3 (iv) 2 (v) 9

3. Find	the	value	of62.9	÷	6.29	+	6.09	−	7.49	✕	1.88 	+	2.78	✕	4.39 	−	5.68	−	51.48	÷	8.58

(i) 2.533 (ii) 4.533 (iii) 1.533 (iv) 0.533 (v) 3.533

4. Find	the	value	of ({((3.78	−	{(4.68	−	6.58)	✕	(2.39	+	9.19)})	+	(1.29	+	9))	✕	10.09}	+	(5.49	+	8.88))

(i) 380.3365 (ii) 376.3365 (iii) 378.3365 (iv) 377.3365 (v) 379.3365

5. Find	the	value	of2.88	✕	75.46	÷	10.78 	−	3.19	+	3.29	+	7	✕	27.48	÷	4.58 	+	7.68	−	2.39

(i) 65.55 (ii) 67.55 (iii) 69.55 (iv) 66.55 (v) 68.55

6. Find	the	value	of ( ({6	✕	{{3.88	✕	[6.19	÷	6.19]}	✕	4.78}}	+	10.39)	−	(10.09	−	[8.68	÷	8.68]))

(i) 113.5784 (ii) 110.5784 (iii) 114.5784 (iv) 111.5784 (v) 112.5784

7. Find	the	value	of6.68	+	4.09	−	4.58	−	 51.03	÷	7.29	✕	4.88 	+	76.41	÷	8.49 	+	3	✕	8.19

(i) 6.6 (ii) 7.6 (iii) 3.6 (iv) 5.6 (v) 4.6

8. Find	the	value	of ( (3	+	{[370.2203	÷	{{2.88	✕	4.09}	✕	4.49}]	✕	7.78})	+	[129.7	÷	(9.58	+	3.39)])

(i) 69.46 (ii) 68.46 (iii) 65.46 (iv) 66.46 (v) 67.46



 1)	(i)  2)	(i)  3)	(i)  4)	(iii)  5)	(ii)  6)	(v)

 7)	(iv)  8)	(v)

Assignment	Key

Copyright	©	Small	Systems	Computing	Pvt.	Ltd.


